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General comments

The quality of work produced for summer examination was pleasing. This year students had
three options to choose for question 1 and for question 2.

The paper differentiated very well in that students were able to score marks over a variety
of questions. The majority of students were entered appropriately for Higher tier.

The quality of work seen in the overlap questions (question that appear in Foundation and Higher
tiers) was of a higher standard than at the Foundation tier. Students’ ability to use a variety of
tenses and complex language were notable.

Students were also able to express and justify opinions well in writing test.

A few students were unsuccessful; this was due to inaccuracy that caused a delay in
communicating messages. This was mainly due to inaccurate verb formation or students writing
extended responses, far longer than the suggested word count, which created more scope for
error.

Another barrier to achievement was omission or misinterpretation of the bullet points in
Questions 2.1, 2.2 and 2.3.

Question 1

For question 1 there are 10 marks for Content and 6 marks for Quality of Language. Students
are required to write approximately 90 words in total. All four bullet points must be covered, but
there is no need for equal coverage of the bullets.

The quality of work seen was generally good. Many students were able to provide extended
responses, which demonstrated their ability to extend ideas, express opinions, justify opinions
and refer to different time frames. Where some students were less successful, this was mostly
due to misinterpretation of bullet points and over-long responses, which lead to more scope for
error. This summer Higher tier paper, question 1 had an additional option for the candidates to
choose from.

Content
The criteria for assessment focus on four elements: coverage of the bullet points, development
of ideas, clarity of communication and expression of opinions.

In some cases, a bullet point seemed to be misunderstood, therefore some students lost four
marks for Content. In order to score 7 marks or more for Content, four bullet points must be
covered.

In addition, although students had no difficulty in developing ideas and express opinions, there
were lapses in accuracy which led to a lack of clarity of communication and this affected
students’ marks.

Question 1.1

This was the most popular choice with students. It was on a topic of film, with which students are
familiar, but it is important to remind students that the specification requires them to use their
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knowledge to respond to the exact requirements of the task rather than just reproduce relearned
language.

The bullet points 1, 2 and 3 were based on students’ immediate experiences and were well
covered, with many good responses. Bullet point 3 was designed to draw an opinion.
The last bullet point, the future time frame proved to be problematic, ey feg =t femHt

g5 97d HS™ Some students misinterpreted the bullet point and wrote their responses in

past or present tense rather than the future. They had difficulties in using the appropriate form of
the verb.

Question 1.2

This was least popular choice with students. This question was also on a familiar topic of

local area. Similarly, as in Question 1.1, bullet points 1 and 3 were generally covered very well
and the responses to these showed good developments. Bullet point 3 was designed to elicit
an opinion. Bullet point 3 was usually quite well done.

The last bullet point proved challenging with the future time frame reference as some students
responded using past or present time frame eg &< e feg gfdeT/ IfTEt At | rather than

e.g., 3fey feg W fem femra feg afger ordet/ order It |
Question 1.3

This was the second popular choice with students This question was also on a familiar topic of
jobs. Similarly, as in Question 1.2, bullet points 1 and 2 were generally covered very well and
the responses to these showed good developments. Bullet point 3 was designed to elicit an
opinion.

Bullet point 3 was usually quite well done.

The fourth bullet point proved demanding with the future time frame reference as a
few students responded using past or present time frame e.g. U'de- TTEH 39! B BT

odeT/ Aegt feg fapvr/aret /it / i3t | | rather than e.g., fed feg utde- erety Sadt et
oGt/ AT feg W / ffedd ¢ 3° 2t urde- 2etd St Sg AR J |

Advice to students

* Plan to write roughly the suggested number of words.
* Mention all of the bullet points. Attempt to write something relevant about them rather than
omitting them. Tick off the bullet points on the question paper once
all points been covered.
+ Be aware of which bullet points target the different time frames and check that
the verb formation is accurate.
* Make sure to include opinions as required by the task.
* Make sure to include opinions, reasons and justifications as required by the
task.
» Aim to use a variety of vocabulary.
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Question 2

For Question 2, there are 15 marks for Content, 12 marks for Range of Language and 5
marks for Accuracy. Students are expected to write approximately 150 words in total about
two different bullet points. Both bullet points must be covered, but there is no need for equal
coverage of the bullets.

The quality of the work was varied. Many students appeared to be capable of writing

confidently in response to both bullet points, using language that was accurate and wide-ranging.
There were some students who found it difficult to fulfil the requirements of open-ended

tasks. Students were required to write things that were relevant to the bullet points. Where
students exceeded the suggested word count significantly, there were usually more

errors, which did have a negative impact on the marks in many cases.

This summer Higher paper, question 2 had an additional option for the candidates to choose from.
Content

The criteria for assessment focus on four elements: relevance and detail (implicit in this
is coverage of the bullet points), amount of information conveyed, clarity of
communication and expression and justification of opinions. Students had lot to say in
response to each of the two bullet points in each question and they were able to
develop their answers, expressing and justifying opinions. The main difficulty was that
some students made serious errors while writing beyond the suggested number of
words, which was 150.

Question 2.1

Question 2.1 was the most popular choice and the quality of responses to this question
was very good as students were able to write about both bullet points with a good
ability to express and justify opinions. Where students were less successful, this was
due to misinterpretation of the bullet points or very lengthy responses which increased
scope for error.

In the first bullet point of 2.1, students were required to write about HayHe 38373 but
for second point a few numbers of students ignored the words like sfeyfeg IEASQIG)
HEEE T HI33T, Importance of celebrating festival in the future and did not refer to
these in their responses.

Their writing was about a favourite festival only, rather than ‘Importance of celebrating
festival in future. Nearly all students were able to write successfully elaborating the H&UHE

f38ag

Once again, this is a topic with which students are familiar and they were able to provide a
great deal of information.
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Question 2.2

This question was also on a familiar topic of Charity and less popular in students. Similarly,

as in Question 2.1, bullet point 1 9fg2t &=t o and ey feg 9fgdt & SHT Bt HI33Twas

generally covered well and the responses to these showed good developments.

The second bullet point 3fey feg 9fact @ SH Tt Hd33T proved challenging with the future
time frame reference as some students responded using past or present time frame e.g vfact

SIS M I3 H | rather than e.g. ey &9 ATg 9fadt € oW wgg 9w Ifae vrdter J fer o
Mg T UIE 2 59 9fact o7 93 afgedl |

Some students misinterpreted bullet point 2, words like ‘Ffed f&g in the future ’and

interpreted it as ‘past ’ rather than ‘in the future’. This was due to students writing pre-learnt
material relating to the topic of school and education.

In a few cases, this material could not be credited as it was not addressing the bullet point.
These students could not achieve marks in the 13 — 15 band. Bullet point 2 in this question
gfey g Ifat 2 1T € HI33T was not successfully addressed.

Question 2.3

This question was the second popular choice this summer,almost all students

were able to write successfully about AgS / &+ & fifedft and 3y €8 gateafhdt &t ugret

¥7J | Almost all students wrote at length on both bullet points, describing in detail of school
/college activities, routine and about university study in the future.

Some students did not understand bullet point 2, words as they were expected to write Iy fegin
the future ’but they wrote it as ‘past ’ rather than ‘in the future’. This might be due to students
writing pre-learnt material relating to the topic of school and education.

In a few cases, this material could not be credited as it was not addressing the bullet point.
These students could not achieve marks in the 13 — 15 band. Bullet point 2 in this question

3fey feT galeafHel €t ugTet §19 * was not successfully addressed. This is a topic

with which students are familiar and they were able to provide a great deal of information.
Range of language

The key features of criteria for assessment here are variety of language and a confident
ability to produce complex sentences. It is worth noting that reference is not made to time
frames or tenses in the criteria, but the use of these would be considered to be attempts at
complexity.

In terms of variety of language, there was an impressive variety of connectives seen;

such as e fa, I¢, sam3, emie feg | A range of negatives were attempted by some
students; &J1, T &1l There were other successful attempts at complexity: H, vaq, feg
7991 I fa1, feg 7gdt I {8 fd and the use of adjectives Fgat, 99T, 3° 2T | There was also a
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wide range of tenses, including the future time frame. It was noted that there were instances
of attempts to include idioms that were sometimes not relevant to the task.

Accuracy

The criteria for assessment focus mainly on verbs and tense formations, and the type of
errors that students make. It is to be noted that a ‘major’ error is one that interferes with
communication, and a ‘minor error’, albeit still an inaccuracy, does not. The majority of
students were able to produce work worthy of 3/4 marks and above. Common major errors
included the inappropriate use of subject verb agreement in Panjabi and poor formation of
the perfect tense. Minor errors included gender and verb agreement, inaccurate adjectives
agreement and minor misspellings.

Advice to students

* Aim to write approximately the number of words required.

* Read the bullet points carefully and ensure that you know exactly what they require in
terms of response.

* Make sure that what you write relates to the bullet points.

« At the end of each task, check that your verbs and spellings are accurate.

» Make sure you include opinions, reasons and justifications as required by the task.

* Aim to use a variety of vocabulary.

Question 3

For this question, there are 6 marks for Conveying key messages and 6 marks for
Application of grammatical knowledge of language and structures. Given that the level of
demand of the messages was aimed at covering grades 4 to 9, the question differentiated
well, with all students able to score some marks.

There were some key vocabulary items which were known to many students in the Panjabi
language, for example, ‘Sunday, village, grandparents, health’.
The passage was divided into 13 key messages:

Conveying key messages

The translation is divided into 13 key messages (see below). As a general rule, the wrong
person or wrong tense of a verb will not receive a tick. Minor inaccuracies, such as
incorrect gender or adjectival agreement, will not on their own prevent the award of a tick.

Other reasonable alternative translations were also accepted. Minor errors did not prevent
award of marks for conveying key messages provided they were communicated. Because
of this, when awarding marks for application of grammatical knowledge of language and

structures, inaccurate language was considered. For example, language such as HH/Jd™3

Tyt fU3, Y, 39&T, Areiar / Areialt, fAg3HE, gt were often either incorrect,

omitted or spelt incorrectly, and this influenced mark awarded for application of
grammatical knowledge and structures.
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1 mark 0 marks
S8 %325 & This was done very well but some students could nof| iUlZ3
T | LastSunday, spell "TUE #3273 and wrote as "fUFS #Z=d'|
H w3y fefis wiZ {590 was also accepted as a comect answer. | #IUET
2 L:;ﬂte My €353Y | Some students did not know &Y wrote in TH English essay and could
not score mark.
then spent the feg A wE Tt T ETat H T TS Tt
3 | evening with my : -
grandmother. This was done very well. HiETat A
. . fiz f29 @94t | This was done very well. SIELG]
4 | inthe village
WH T3 ST YT YT
* | Woale our daxer HH ZTHTET " was also accepted as correct answer. b
6 |atmyunces I HTHT T2 UG This was done very well. N
house.
I left my maobile " e = s :
7 phoney H »M[ETHETEE 25 This was done very well. SEyierey
Wd =3 farim/ 9rEl This was done very well. wa
8 at home
g | and did not speak W3 ORI ARSI STE IS &t a3 | This was done very well. o
to any friends. -7
10 | In the next holiday, HaTE M gem f&9 This was done very well. st
| would like to go | 7 395 1 7727 7 Some students could not spell 'Z3=" and wrote as | =95
1 for a walk "Zaa and lost mark, this caused a problem for many and it was
commeon to see Ia& A2l /Ia5 [dMITHT |
12 | asi fagTa 7" This was done very well. '
SugRz gilgerargeT 9o el o | THasHe afasr o
13 | want to stay fit.
was also accepted as comect answer.

Advice to students

Practise high frequency words and phrases, especially connectives, negatives and

prepositions.

Check carefully that all aspects of the translation have been addressed accurately,
particularly the little words.
Check verb tenses and sentence endings in Panjabi.
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Mark Ranges and Award of Grades

Grade boundaries and cumulative percentage grades are available on the Results Statistics
page of the AQA Website.
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